Copyright Lappset Group Ltd

% LAPPSET.

FINNO

705230

DATE: 6.6.2014

720

800

(1) 705210 [pes|(2) 903093 [pes|
jm 1] o]
| esxe0 | ]
PCS PCS
PCS PCS
PCS PCS
PCS PCS
PCS PCS
DET 1
©8x90
R




Copyright Lappset Group Ltd

% LAPPSET.

705246

[ (900240)

[&] [=]

Iﬁ

FLORA DATE:  6.8.2013 1(1)
(1) 705215 |pes|(2) 900240 [pcs|
a 0 o
. DET 1
| esx0 | |
s s
\\\\\\\\\\\\ \\\\\\\\\\\\\\_DET1 B B
P s
P o)
P s
| 20 § | -
DET 1
\J
@8x70
o

800




705247

DATE:

% LAPPSET.
FLORA

1(2)

(1) 705218 |pes|(2) 705531

2.8.2017

PCS

PCS
12

12]

2]

45x145x1124

@8x90

224/8.5

2]

2]

70x145x965
(3) 705532 |pes|(4) 900240

45x145x527
(5) 705541 |pes|(6) 903093 |pes

70x145x770

(7) 909230 |pes|(8) 905051 [pes

WM

8x150

DET 4

DET 1

DET 2

0]%

e
?/@ (@]
o
©
ol A — O
BeBe—————J | ¢
- N
M | :
o
(o) &
lTQ
W ’/@ (@]
(@]
| O
m / 0zL |
. |
(0L8+ ¥0014) 0L
- (0L¥1+ ¥0014) 0LSL
()]
W o
o
o0

P17 dnoug jesddp jybiruhdo)




Copyright 1998 Lappset Group Ltd

38 LAPPSET. 705247
FLORA DATE: 2.8.2017 2(2)

/05231
/055352

WEx90
(903093)

/05218

1200

1200

1200

1

BRIDGE

(905057)

3x150
(909230)

/05541

8x90
(903093)

@24 /8.5

(905051)

3x150
(909230)

/05041

BRIDGE

—— BOOM

!




Copyright Lappset Group Ltd

% LAPPSET.

FLORA

705258

DATE: 24.5.2022

1(1)

(1) 706443

7

32x45x702

Pes|(2) 705257 |pes

32x750x750

(3) 900240

LCS@ 980101 |pcs

@8x70 @4.5x70
£ ¢ | | | |
o
3
£3 3%
800
DET 1 DET 2 DET 3
4.5x/0
QN
/064453 M

N\

@3x/0

(i
N\

\

=4

NOTE:

Same plane.
HUOM:
Samassa
tasossa.




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705262

DATE:  30.3.2020 1(2)
(1) 705248 |pcs|(2) 905083 |pes
il K 4]
- | 4]
DET 1, 3 2 ‘4 ‘\\f\\;\\“
I DET 2, 3 I
< (3 905112 [pes|(4) 909232 [pcs]
g lil 4 4
L ® ||=|
[l @22 | | esxa20 | |
(5) 980151 |pcs(6) 900240 |pes|
4 16
o16/84 | | @8x70 | |
U
U — -
o o o =
[k {
I {
db db ddb b
[1 [T [T
800 2400




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705262

FLORA DATE:  30.3.2020 2(2)
DET 1 032 DET 2
ATT |
Pre drilling
» Pomm
JEx /0
@éxﬂdL/// (900240)
909232
716 /8.4
980151
@22
905112
DET 3
Jmjil HJ@[
L)
@)
@)
LO)
@)
jmjin G @[ N
L)
L)
l |




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705268

670

DATE:  16.5.2016 1(2)
(1) 701929 |pes|(2) 705307 [pcs|

EE % i

— ey

(3) 901879 |pcs|(4) 980128  |Pos|

i 2] 9

| erxa0 | ]

PCS PCS

PCS PCS

2590




—
N
\ 4
2 009¢
N
_l
Lol
0 of° :
©
O < |
0 - -
N 3 5
5 — > S 0001
0 .o W = r
= o
7 m Pomra) W
N
_l
Lol
(M)
=
E 5y 00G1
s qu 2o
o. ol o o 0
« 1 = S
=l O |- S b
wd | o
I o )

py71 dnoug jesddor geelL yubliAdoD



Copyright Lappset Group Ltd

% LAPPSET.

705270

FINNO DATE: 6.6.2014 1(2)
I I (1) 705260 [pcs|(2) 903093 [Pes|
DET 3 < ] o]
| esxe0 | ]
/ PCS PCS
é DET 1 ] ]
\ PCS PCS
DET 2 N N
q i P
PCS PCS
+2190 - -
PCS PCS
+1470
PCS PCS
PCS PCS
+0 B B




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705270

FINNO DATE: 6.6.2014 2(2)
DET 1 DET 2 DET 3
x @8x90
\%
)
?8x90
(903093)
705260 (903093)
705260




Copyright Lappset Group Ltd

% LAPPSET.
FLORA

705310

DATE:

20.5.2015

1(2)

L]

755

25

(1) 705245 |pes|(2) 980104 |pes
A1 iE
| /

.e’
\ - -
53x119x754 25x90

(3) 901868 |pcs|(4) 909867 |pes

/ 1] 2]

034x598 | | Mex70 | |

(5) 999561 |[pcs| Pes
. 1

O

L

I
GLUE

10 g




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

705310

DATE: 20.5.2015

2(2)

DET 1 DET 2

NOTE:

Chamfers of the pole and

narrower must be mounted

in the same direction.

HUOM- /05221

Tolpan ja kaventajan viisteet

tdytyy asentaa saman suuntaan.

@5x90
N 901868
/05245 ]

DET 3 DET 4

90986/

12




Copyright Lappset Group Ltd

#® LAPPSET.

705368

FLORA DATE:  21.2.2023 1(2)
(2) 705644 |pes|
/ 1]
(3 902439 |es|(a) 902474 |Pcs|
1 1
:' Q | 0] \ ]

El ||

ﬂ NP N
' (5) 905103 [pcs|(6) 909256 |Pcs|
12] 2]

B @
PT-28/32-H| | @16/8.4 | |
(7) 980161 |pes|(8) 980165 |Pcs|
) 2 2

5210
Mo | | e@2413 | |
DET 1 = (9 980128 |pcs pes|
uj 12] |
o7x40 | | B

S
+1470 X
+0

1000




Copyright 1998 Lappset Group Ltd

% LAPPSET. 705368
FLORA DATE: 21.2.2023 2(2)
DET 1 DET 2 @W6/8,4
" (909256)
324 /153 @7x40
(980165) Q%i (980128)
M10
(980161) >\

@@

®

®
9051038 /

705643 /%

DET 3 37x40

(980128)
V16 /8.4

(909256)




Copyright Lappset Group Ltd

% LAPPSET. 705375

FLORA DATE: 30.1.2018 1(2)

(1) 701092 |pes|(2) 705331 |pcs

15x120x700 45x645x1670
(3) 705363 |pcs|(4) 705373 |pcs

N

L 2120 95x1005x1365
(5) 705374 |pcs|(6) 900240 |pcs

DET 1, 3, 4 \

o
(93
[%]

95x1005x1369 28x70
(7) 909256 |pes|(8) 909855 |pes
DET 6 4 4]
)
S| |

216/8.4x1.6 | | M8x35 | |

(9) 980107 |pes|i0) 980123 [pcs|

13 4

S — —

P
@6x60 | | @7x60 | |
(1) 980128 |pcs| pes
5

. ° ] -

‘ o7x40 | | B

33 o) P
— O

e - -

PCS PCS
o

~ I I
¥




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705375

FLORA DATE:  30.1.2018 2(2)
DET 1 DET 2
"‘v
XN o
/
WBEx /0
216/8,4 (900240)
(909256)
MEx 3D
(909855)
DET 3
Woxo0

(980107)

/x40

(980128)

DET 5 /x40

(980128)

(980123)

DET ©




Copyright Lappset Group Ltd

% LAPPSET.

705506

FLORA DATE: 9.4.2013 1(1)
(1) 705486 |res|(2) 905051 [ps|
2 6
@ 2| 6|
! @
45x120x660 | | @24/8.4 | |
(3) 909232 |pes|(4) 905066 [pcs|
6 | 6|
8x120 | | s3oH | |

660

120

909252
905051

905066
o




PCS
4
PCS

1(1)

8x120

=
224/8.4

(905051)
905066

705487
8x120

(909232)
724 /8.4

45x120x590

(1) 705487 |pcs|(2) 905051
2]

(3) 905066 |pcs|(4) 909232
il
PCS
CS

S30H

22.4.2013
G
'Ou

705507

DATE:

DET 1

®
DET 1

480

e T
. 7/A m

% LAPPSET
FLORA

|
p17 dnous 3jesddo jybhdon



Copyright Lappset Group Ltd

% LAPPSET.

705511

FLORA DATE:  27.1.2021 1(1)
</\_> (2) 900240 Pes|
Al 4]
@8x70 | |
o =
Pes PCS|
Pes Pes|
Pes PCs|
Pes Pes|
N
DET 1 DET 2 PCS PCS

AN

8x/0

/05511

200

PCS

PCS




% LAPPSET.

FIRE POSTS

Copyright Lappset Group Ltd

FINNO DATE:  8.6.2021 1(2)
(1) 900240 |Pcs|(2) 900342 |pes]
(i 4] 12
o DET 1 <
Il o8x70 | | Mexi6 | |
(3 901900 |pes|(4) 901939 |Pcs|
| "‘\»)ﬁ | |
I )
k<l B
§> 907695 20.5x36.2x56| | M12x70 | |
/ —T (5) 909850 |rcs|(6) 980150 |pes
L— . |
1 1
DET 2~ = [
) W \
or M8x25 | | M8 | |
(7) 901182 |pes|(8) 901902 |Pcs|
1 2
B B
— a
L Or L L
L 211 /M8x40 30.7x60.9x100
U 907829 i i
~ 0 0T
DET 3
PCS PCS
Nl _s03 B B
e -
3 i i
+1870
| (O 907829 |res|(C) 907698 |Pcs|
1 1
033,7x1454 | | ©933,7x2054 | |
(O 907817 [res|(0) 907695 |Pes
1 1
+0 ] ]
n i I %
340

@33,7x2554




Copyright 1998 Lappset Group Ltd

% LAPPSET.

FIRE POSTS

FINNO DATE:  8.6.2021 2(2)
DET 1 DET 2 901900
. MBx25 8
Pre drilling
@5 I 40 (909633)
N MEx16
NP /(900342
) .”\ @W )
%
90190727
907695 | «
211 /M8x 40
_ 98x/0 (901182)
(900240) e
(900342)
DET 3 DET 4
901600
901596
l é 901590
MT2x/0
T S (901939)
I ———p—




BASE

% LAPPSET.

1(1)

(1) 909531 |pes|(1) 909513 |pes

26.6.2012

DATE:

FINNO

PCS

PCS

PCS

(1) 902062

N
_l
Ll
()
/N
X
A
N—
)
o)
=
o
D
N
_l
Ll
()
o o O
s R I
Hig——— (10
=~ ®)
- \\\ ~
o o o o
— \\\\\ =
Ll
()

N1 dnogo 1ssddpa

L 1




POLE

DATE:

% LAPPSET.

4A

(1) 901920 |pes|(2) 909628

15.5.2014

SURFACE FOUND.

PCS
4
PCS

o)
M10x100

150x130x130

DET 4

DET 1-3

drill hole

Pre

DET 2

)

10 90 (x4

DET 4

DET 1

MTOx100

DET 3

p11 dnousa 18sddoT jubiufdon




% LAPPSET.

GRIP

FINNO DATE:  18.1.2016 1(1)
(1) 900240 [pes|(2) 900727 [pes
1 §§§§§§ 1
| M _
3)
N | _
B M10x80
PCS PCS
. _ |
(3 907688 [Pss|(3) 907701 [Pes|
L 1]
765 B | _
PCS PCS
- PCS PCS
DET 1 ) __ __
Ox80
Pre—dril
100 Hole. | ___
ooz oo

M1
(9\77)%)

N

PCS

PCS

Copyright Lappset Group Ltd

SET 3

—

PRE—-DRILL HOLE.

St

870
(900240)

PCS

PCS

PCS

PCS




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



% LAPPSET.

FINNO

707792

Copyright Lappset Group Ltd

DATE: 23.6.2016 1(3)
(1) 980100 |pes|(2) 980104 [Pcs|

- DET 1 48 32
) @5x60 | | @5x90 | |
(3) 909230 |pes|(4) 900208  [pcs|
8] 8]
8x150 | | Miox170 | |
i (5) 905051 [pes((6) 901302 [Pcs|
DET 4-5 8 8
DET 2 @24/84 | | @20/105 | |
(7) 900965 |pcs((8) 903533 |Pes|
8] 8]

Mio | [srLi2 To @9 |

PCS PCS

2860 I L
(O 707667 |pes|(C) 707688 |pcs|

8] 8]

10x1295x1075 | 45x70x1385 | |

“ “ (O 707689 [pes|() 707691 |pes
_ 18] 1
45x145x1495| | 15x@480 | |

DET 3 /

(O 707692

-

15x@225

PCS




% LAPPSET. 707792
FINNO DATE: 23.6.2016 2(3)

DET 1 DET 2

T \ /
Tzt N

Tighten AFTER roof plates are assembled

Copyright 1998 Lappset Group Ltd

DET 3 Check measures

2820




% LAPPSET. 707792
FINNO DATE: 23.6.2016 3(3)

DET 4 .

my




% LAPPSET. 707872
FASTENER KIT DATE: 8.7.2016 1(2)

Copyright Lappset Group Ltd

(1) 900477 |pes|(2) 905083 [pes

Wﬁi

M12x60 232
(3) 905090 |pes|(4) 905098  [pcs

ﬁ @8

245 M20
(5) 905112 [pes|(6) 905115 [pes

\ 864

@22 230
_ DET 4 (7) 905857 |pes|(8) 909248 [pcs|
‘©»
e
o w2z |
(9) 980100 [pcs| Pes|(i2) 980154 [pcs|
15 B o4
@5x60 | | | o243 | ]
DET 1 DET 2
905090
980154
T Posts can be
! used for lifting!
b %0 P \ N
Y7 . 905098 :
AR /
\umi {22} 980154
905115 | T NOTE
M12x60 I Use rope that
-t can handle
905098 /707757 heavy weight.
Lift from the
center point
of the tower.




% LAPPSET. 707872

FASTENER KIT DATE: 8.7.2016 2(2)

DET 3

NOTE! Make sure that the
groove in bottom of post is
in right position.

i\
J a’ m-s\\‘. ’
V/ | A\

DET 4

/07806

Copyright 1998 Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

SURF. FOUNDATION

ROPE LADDER

DATE: 30.9.2016

1(1)

DET 1

210 I, 70

S 90

03011

(1) 905051 [pes|(2) 903093

PCS

2 10
G0 =
224/8.4 28x90

(3) 909866 |pcs|(2) 909633 [pos|
2] 2|

O LJ S)o e LJ O

o o |-

<O o so

mexe0 | | w8 | |
/ (5) 908011 [pcs|(6) 901104 |pes]
6 2

Q o Q © o
o . o o e
o o o o o o o o 10 mm M8x80
" (O 708121 [pcs PCS
N ARSN AN NN NI N 1
NN NN SO O N NATER R RN . _—
N NNON O NN N NNON N NN N
\\\ NN \\\ NN \\\ N

+2570

ROPE LADDER OPTIONS

XXXXXX— 301 BLUE
XXXXXX—302 RED
XXXXXX—303 BEIGE
XxXxxxx—304 GRAY
XXXXXX— 305 BLACK
XXxXxXxx— 306 YELLOW
DET 2 DET 3 %
29
@§§(
@§§(
g M8x60 or /
N MBXBOzamm boem
@24/84
JEx90
(903093) —




% LAPPSET. ROPE LADDER

SURF. FOUNDATION pate: 24.8.2016 an
+2570
DET 2-3
l,
DET 1
~1540 \‘Téﬂﬁa f

Copyright Lappset Group Ltd




% LAPPSET.

GAME WALL

M80 DATE:  4.11.2019 1(2)
(1) 903176 |pes|(2) 909850  [pes]
"]\ 4] 4]
DET 1,2
| wmexes ||
(3) 909256 |cs|(4) 909633 [Pcs|
8 4]
&y
016/8.4x1.6 | | -
(5) 980123 |pcs Pes|
4] |
*Note: o7x60 | | B
No gaps between:
3—25mm
89—230mm
COLOR OPTIONS
—701  BLUE
—702  YELLOW
—-703  LIME
—704  DARK GRAY
- —705  LIGHT GRAY
—-706  RED
~707  GREEN
1 —708  FUXIA
10 @] 2
9l - Ols
o ||IB 3

*Note

*Note

Copyright Lappset Group Ltd

800

800




% LAPPSET.
M80

GAME WALL

DATE:

4.11.2019

2(2)

GAME WALL OPTIONS

706766

706772

706308

707453

640x702

640x702

640x702

640x702

707209

705705

707433

707386

Copyright 1998 Lappset Group Ltd

\E

(909633)

640x702 640x702 640x702 640x702
709403 709358 709405
640x702 640x702 420x702
DET 1 YN DET 2
(909850)9[X5?76
@ |
316 /8.4 < 3 7%60
(909256) 1 (980123)
:
@ g




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




Copyright Lappset Group Ltd

% LAPPSET.

A10251

FLORA DATE:  17.1.2018 1(2)
(1) P12350 |pes|(2) P12353 |pes
§ ]
L=2400 | | B
(3) P12352 |pes|(2) 705528 |pcs|
— K —
(5) 705529 |pes|(6) 900240 [Pcs|
\ L @W i
| esx0 | |
(7) 905087 |pes|(8) 909137 |pes
4 4
q ] ]

DET 3 %
| wmi2xso | ]
(9) 909248 |pes|(10) 980128 |pcs|
4] 6

Nawé
M2 | | e7xa0 | |
(1) 980154 |pcs| pes|
il -
@24/13 | | ]
s s
PCS PCS

‘ 800 ‘




Copyright 1998 Lappset Group Ltd

3% LAPPSET.

A10251

FLORA DATE: 17.1.2017 2(2)
DET 1 DET 2 DET 3
& @7x40
705528
705529 - /05190
a NOTE
Center boom
9EK3W3/7\\\§ grooves accurately
> = to the roof truss.
Q¢P”' é:\\\\\LeOve no gaps!

980154

HUOM

Asena puomi
keskelle kattotuolia)
Ald jatd rakojal

NOTE:

Head of the element
to the end of groove.
HUOM:

Flementin padd

uran pddhdn.

P12353

NOTE:

Install booms

in to the cut

of the roof truss
Leave no gaps!
HUOM:

Asenna puomit
kattotuolin loveen.
Ald jgtd rakoja!

DET 6

P12350




Copyright Lappset Group Ltd

% LAPPSET.

A10253

FINNO DATE:  16.1.2018 1(4)
(1) 908378 |pes|(2) 909649 [Pcs|
L\/@ i
DET 3 | m24xa30 | ]
DET 1,2 N y (3) 909859 |pes|(4) 909867 |Pes|
T 16] 24]
ﬁﬁﬂ
D
DET 4 \— @)
AT @37/21 | | wMsx70 | |
|/ (5) 929917 |pes|(6) 929918 [Pcs|
| o] 2]
T
®\\ M20xs50 | | w20 | ]
) (7) PN0247 [pes|(8) 980154 [pes
%Q §§> 1 24
700x700x15 | | @24/13 | |
(9) P12360 |pes|i0) 905066 [pcs|
8] 24]
63x165x1927 ] S30H B

+2040 or +2090

PCS

PCS

PCS

PCS

[ETTTTTTTTTTTTITTTTTTTTTTTTrrriyr 7

PLEASE SEE FOUNDATION DETAIL OPTIONS.

—350 or —400

+0
(TTTTTTTTTTTTTTTTTTTTT T Tr7777

PCS

PCS




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FINNO

A10253

DATE:

16.1.2018

2(4)

DET 1 (Big floor)

Note:
Install
this
part
before
707775

DET 1 (Small floor)

Install
this
part
before
707775

DET 3

NOTE!
Install these after
900436 /9004 37.

DET 4

@24/13

M8x /0
905066
RN

P>

N

HOX! Use the plate to
focus right place for the
bolts

O
©

HPM 24 /L

PNO247/

CENTER POINT




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

A10253

16.1.2018 3(4)

DATE:

CONCRETE BLOCK SOLUTION

+0

—250

—450

—950

SAND 0,2-2 mm

OPTION 1, THIS DETAIL
NEEDS TO BE USED
WHEN THE REST OF THE
PRODUCT IS WITH

DEEP MOUNTING.

BASEBOLTS HPM 24 /L

/

% y PNO247
v

2(0 110 |—=R L1
100]08 o2 Ve SIS Qe o8
. - :
02 o2 || <8 e 3
0 R Qo
Q< L U o U .
S o2 o2 i
3 / 3 N
50 % ™S Syt S
CONCRETE K30 REINFORCEMENT
30 MN/m STEELS A 500 HW
2000x2000
@ STEELNET #8 #150 (1900x1900)

TAKE THE PLATE PNOZ247/
OFF BEFORE INSTALLING

METAL POST

+0

—250

—450

—950

SAND 0,2 2 mm

. 'COMPRESSED- . -. *_

TORGUE 5T0NmM

GROUTINE CONCRETE K30

o L @ ~/(Non=Shrink) 50x500x500
A (o 7% ) e e
QO S Q8 Q8
8 2 || o2 Qf
O o2 3
- - O
o o Qe o
‘ Qe Qg X , Qg s Qe
S 52




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

A10253

DATE: 16.1.2018 4(4)

CONCRETE BLOCK SOLUTION

+0

—200

—400

—900

OPTION 2, THIS DETAIL
NEEDS TO BE USED
WHEN THE REST OF THE
PRODUCT IS WITH
SURFACE MOUNTING.

SAND 0,2—-2 m

m

BASEBOLTS HPM 24/L

/

b
=]

% ) PNO247
/

Q2 || 0% || o2

O

o8 ©s QL
o2

AV

4 K)D‘

NS B

@

CONCRETE K30
30 MN/m

REINFORCEMENT
STEELS A 500 HW

2000x2000

STEELNET ¢8 #150 (1900x1900)

TAKE THE PLATE PNOZ247/
OFF BEFORE INSTALLING

METAL POST TORGUE 5T0Nm
+0
SAND 0,2 2 mrr
—200 — — - - :
T COMPRE ST - GROUTINE CONCRETE K30
'i'CO“gETESSED b @ | /(Non—Shrink) 50x500x500
— 400 : 50 [/] ) e e Y
QL S Q8 Q8
e QL QL S
QL Q8 Qf
- - O
Qf Qg QO Qs Qg
. N . VO A D
—900 Q e




A10259

DATE: 17.1.2018

% LAPPSET.
FLORA

1(2)
Pes|(2) 705208 [pes

10|

2

Pes|(4) 900240 |pes

40
<V

(6) 980152 |pcs

2

=
10]
6|

(1) P12432

(3) 705209
(5) 903093 |pcs

?8x

q

N —

—X ‘l’/‘\\\.’f)

DET 1

024/8.4x2 | |

90 | |

DET 2

DET 3

DET 4




Copyright 1998 Lappset Group Ltd

8 LAPPSET. A10259
FLORA DATE: 17.1.2018 2(2)
DET 1 DET 2
?8x90
(903093) (900240)
DET 3 DET 4
’
024 /8.4
(980152) ‘%;%% i
D N,

8% /0 8x90

(900240) (903093)
DET 5 D7/ x40
(980128)




Copyright Lappset Group Ltd

% LAPPSET.

A10260

FLORA DATE: 18.1.2018 1(2)

1L 1 u }W (D) P12428 [pes|2) 980128 Jpes

' 1 1
a) | !

L2905 | | @7x40 | |

(3 980123 |pes|(4) 903093 |pes

| W : :

DET | i i
@7x60 28x90

Pes|(5) 908011 |Pes|

@10

1




Copyright 1998 Lappset Group Ltd

% LAPPSET.
FLORA

A10260

DATE: 18.1.2018

2(2)

DET 1

7x40
(980128)

(980123)

DET 2

@101 70 60
W8x90

N~ /~ /[ X7 /I~ <z /I~ <






